

نام و نام خانوادگی (نام و نام خانوادگی) پاسخنامه تشریحی تکلیف شماره ۱۴ کلاس دهم

الف) $a_n = \frac{1}{r}, 1, 2, \dots \rightarrow r = 2$ $a_{n-1} \rightarrow a_9 = \frac{1}{2} \times 2^9 = \boxed{2^{18}} = 284$ (ب) $a = \frac{1}{r}$

$\frac{a}{a} = q^k = 2^k = \boxed{16}$ ✓

۱, ۵

ج) $a, a^2, \dots, a^9 \rightarrow 4, 1, 12, 32, 84, 128, 284, \dots$ $n=9$ $\frac{1}{r} = \frac{1}{2} \times 2^{n-1} \rightarrow n-1=8$

$a, a^2 = 12$ $\frac{a_1 a^6}{a_1 a^4} = \frac{a^2}{a^2} = 1 = q^2 \Rightarrow q = 2$ $\frac{3}{4}, \frac{3}{2}, 3, 6, 12, \dots, 284$

$a_1 a^9 = \frac{2}{4} \times 2^9 \Rightarrow 2 \times 2^8 = \boxed{2^{10}} = 1024$ ✓

۲

الف) $a_1 a^8 = 243 = 3^5 \Rightarrow a_1 a^2 = 3 \Rightarrow a_3$

۲

$a_1 a_1 a^4 = a_1^2 a^4 \xrightarrow{a_1 a_1 a^4 = a_1 a^4} \boxed{2^2} = 4$ ✓

$\left(\frac{a+b}{2}\right)^2 = \frac{a^2 + b^2}{2} \Rightarrow a+b = 8 \rightarrow a=1, b=7 \rightarrow q = \sqrt{2}, 1, 2, 4, 8$

۱, ۵

دانشنامه = $\frac{a+b}{2} = \frac{8}{2} = \boxed{4}$

$t_r = 1-n, t_v = n, t_{n+1} = n+1, t_v = t_r \times q^k, t_{n+1} = t_v \times q^k \Rightarrow n = (1-n)q^k$ $n+1 = nq^k$

$q^k = \frac{n+1}{n}, q^k = \frac{n}{1-n} \rightarrow \frac{n+1}{n} = \frac{n}{1-n} \rightarrow (n+1)(1-n) = n^2 \rightarrow n+1 \leq n^2 - n = n^2$

$1-n^2 = n^2 \Rightarrow 2n^2 = 1 \Rightarrow n^2 = \frac{1}{2} \rightarrow n = \pm \frac{1}{\sqrt{2}}$

$q^k = \frac{n+1}{n} = \frac{1+\frac{1}{\sqrt{2}}}{\frac{1}{\sqrt{2}}} = \sqrt{2}+1$ $q^k = \frac{n+1}{n} = \frac{1+\frac{1}{\sqrt{2}}}{\frac{1}{\sqrt{2}}} = \sqrt{2}+1$

$$ar^3 = r^3 \quad r + ar^3 = 1^3$$

$$a = \frac{r^3}{r(1+r)} \quad \frac{1^3}{r(1+r)} (1+r^3) = r^3$$

$$1^3(1+r^3) = r^3 r(1+r) \Rightarrow r(1+r^3) = r^3 r(1+r)$$

$$r^3 - r^3 - r^3 + r^3 = 0 \quad (r - r^3)(r^3 + r^3 - 1) = 0$$

$$\text{if } r = r^3 \rightarrow a = \frac{1^3}{r^3} = 1 \rightarrow \boxed{1, r, a, r^3}$$

$$\text{if } r = \frac{1}{r} \rightarrow a = \frac{1^3}{r^3} = r^3 \rightarrow \boxed{1, r, a, r^3}$$

$$\text{if } r = -1 \rightarrow \times \} \Rightarrow \boxed{r^3}$$

$$a_1 + a_1 a + a_1 a^2 = 1^3 \rightarrow a_1 + a_1 a = 1$$

$$a_1 a^3 = r^3 \rightarrow a_1 a = r = a$$

$$\frac{r}{a} + r + r^3 = 1^3 \Rightarrow \frac{1}{2} + 1 + a = \frac{1^3}{r} \Rightarrow$$

$$a + \frac{1}{a} = \frac{1}{r} \quad r^3 - 1 \cdot a + r = 0 \quad a = r \quad \underline{a} = \frac{1}{r}$$

$$\text{if } a = r \rightarrow a = \frac{r}{r} = 1 \rightarrow 1, r, a$$

$$\text{if } a = \frac{1}{r} \rightarrow a = \frac{r}{r} = 1 \rightarrow 1, r, a$$

$$\boxed{1, r, a}$$

$$\left. \begin{array}{l} a_1 = r \\ a_1 a = r \\ a_1 a^2 = 1 \end{array} \right\} a = r \quad r_1 = \frac{r^3 - 1}{r - 1} \Rightarrow \boxed{r^3 - 1}$$

$$a_1 \cdot a^3 = r^3 \rightarrow \boxed{r^3 \times r^3}$$

$$a, aa, aa^2, aa^3 \dots \rightarrow b_1 = aa - a = a(a-1)$$

$$b_2 = aa^2 - aa = aa(a-1)$$

$$b_3 = aa^3 - aa^2 = aa^2(a-1)$$

$$b_n = aa^{n-1}(a-1) \quad (n \geq 1)$$

$$\frac{b_{n+1}}{b_n} = \frac{aa^n(a-1)}{aa^{n-1}(a-1)} = a$$

$$a, a+d, a+2d, \dots, a+(n-1)d$$

(3)

$$s_n = a + (a+d) + (a+2d) + \dots + [a+(n-1)d]$$

$$s_n = n[a + (n-1)d] \rightarrow s_n = \frac{n}{2}[2a + (n-1)d]$$

$$a, aa, aa^2, \dots, aa^{n-1}$$

$$s_n = a + aa + aa^2 + \dots + aa^{n-1}$$

$$as_n = aa + aa^2 + \dots + aa^n$$

$$s_n - as_n = a - aa^n \rightarrow s_n(1-a) = a(1-a^n) \xrightarrow{a \neq 1} s_n = \frac{a(1-a^n)}{1-a} \quad \underline{s_n = \frac{a(a^n-1)}{a-1}}$$